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Practice test Chapter 1.

Answer all questions.

Time: 60 minutes.

1. The first step in software development is to ___________________.

analyze the problem

 

 

2. True or false, exhaustive testing of software systems is possible and necessary.

FALSE

 

3.  A ________________________ defines a process to be followed during development of a system.

life cycle model

 

 

4. Systems that are ______________________ are much easier and cheaper to maintain.

well structured

 

 

5. Prove by induction that (2n + 5)2 – 9 is divisible by 8.
 Base: (2*1 + 5)2 – 9 = 72 – 9 = 5*8
Induction hypothesis: (2n + 5)2 – 9 = 8*k

Prove: (2(n+1) + 5)2 – 9 = 8*m

Proof: (2(n+1) + 5)2 – 9 = (2n + 7)2 – 9 = 4n2 + 28n + 49 – 9 = 4n2 + 20n + 25 + 8n + 24 – 9 = (2n + 5)2 – 9 + 8n + 24 = 8*k + 8*n + 8*3 = 8*m
6. 
 


 
 

LibraryCustomer is a ______________.

class

 

 

Checkout() and return() are ______________.

Methods (attributes)
 

 

7. How would you change this UML in order to limit every library customer to only 5 library items? 

Replace 0..* by 0..*5 next to LibraryItem class
 

  

8. The growth functions (10n2 + 100n, 10n3, 2n, n2 * log n) in ascending order should be:

10n2 + 100n, n2 * log n, 10n3, 2n.

 
 

9. Draw a UML class diagram for the following problem:  You are creating a system to represent the driving record of student-drivers.  For each student, you will need name, age, address, and phone-number.  For each parking ticket they receive, you will need student-name, officer-name, date, and location.  For each speeding ticket they receive, you will need student-name, officer-name, date, location, and speed. For each officer, you will need name and phone-number.  While there is not one right answer to this, there are some answers that are better than others so take a few minutes to think about it!

 
 

10.  The following code segment is O(____).

n log n
 int count2 = 1;
for (int count =0; count < n; count++)
   while (count2 < count)
      {
      count2 = count2  + count2;
      }
 

